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Topic:- Child Development & Pedagogy (CDP)

1) are the self-fulfillment needs according to Maslow’s Hierarchy of needs. / ATFAY &T
WO T JeigshA & AR ¥a-gfd #r amaeITFan g

1. Self-actualization / 3TcaH-faeyoT

2. Physiological needs / fohaTcdd TaRIRT
3. Belongingness and love needs / [T 3R IR fr 3maegedr

4. Esteem needs / 981 gToIU

Correct Answer :-

« Self-actualization / 3TcH-TaewoT

2) What part of the personality operates on the pleasure principle according to Freud? /

WIS & IR, 3o AT ) safFeea 1 FIeT AT 11 Hanfard grar 82
1. Ego ideal / 378 3fTeRi (37 33 S)

2. Superego / UXTE (ZUIZaM)

3. 1d / g (3TSE)

4. Ego / 3T& (39

Correct Answer :-

. 1d/ UgaTd (3ME3N)

3) What is the time in a child’s life between childhood and adulthood known as? / STeaTad€dT
IR TIATF AT F N v T F SAad A ST ATFAT 2T 82

1. Adolescence / ToRMTaE2T
2. Menarche / To1EQTeT

3. Middle childhood / ACT dTeATIEA]



4. Puberty / TiaeT

Correct Answer :-

« Adolescence / ThIRTaEAT

4) What is the term given to describe the sudden ‘aha!” moment that sometimes helps us solve

problems? / 3TETeA “37gT!” &T0T &1 JUieT FIA & fAT HieT AT ug T a13m &, A wsfi-hsih g
AT P T FI H A FIATE?

1. Flashbulb / el2r TTea
2. Insight / 3def®

3. Observation / dellchel
4. Deduction / TROTA

Correct Answer :-

 Insight/ 3ide®

5) What is the term given to denote the ability of a test to consistently measure what it is

designed to measure? / fFHY T8&T0T Y 87T F ARG F & fow Fia a1 ug @ g, &
FHTEYAT & AT & forw 58 RBamger fFam w2

1. Norms / #ATAES
2. Reliability / fa#@rardr
3. Reasoning / I
4. Validity / &ar

Correct Answer :-

. Reliability / faaraezrar

6) Benefits of Inclusive Education are: / FATILAY fA&T & 9T &

1. Develops moral and ethical principles only / dhael Afaew 3R Afaare Rgia fasfaa s
2. Increases communication and social skills only / &harel FUR 3 ATATTSTD DILTST TSTAT

3. Increases acceptance and appreciation of diversity only / ehdel TATIerdT &hr Q:Eil?f»ia 3R gerar
Jalel



4. All of the above / Iuad T+t

Correct Answer :-

« All of the above / Iudad T+t

7) The urge to provide care and protection to offspring is motive. / ATl T S@HT 3T
F&TT Y&TeT FT1 T AT FfAIOT B
1. Sex / T

2. Maternal motive / HTc] IR LRI
3. Achievement / 3UcIeY

4. Affiliation / TG

Correct Answer :-

« Maternal motive / HT JTFUIOM

8) Which of Erikson’s stages of psychosocial development results in the virtue of competence? /

TREFH & A RE & Fia & wor 7 afaafEar smaen et g §2
1. Trust vs. mistrust / T4mA g1 31faama

2. Intimacy vs. isolation / EfAST IATH 3Tel9Td

3. Ego integrity vs. despair / 31& 3T@3dT IATH TR1T

4. Industry vs. inferiority / TR TATH AT

Correct Answer :-

o Industry vs. inferiority / TR TATH STl

9) Which of the following strategies cannot be used by a teacher for a mentally retarded
learner? / fRI4T @RI AARA® &7 / #Hg et (a+i7) & v fmafaf@a # @ Fra s-fAfa =
IqANT ALY RRAT SIT WehaT 82

1. Breaking smaller tasks into large steps. / B Hie HAr A E@ Hd | fyuIfordg s

2. Presenting the information to learner using visual aids. / TU TSH &Il I B Rremeff (?FTT) CARSIECAR] Uxdd
DA

3. Involving the learner in group activities. / THg Tfafaferay & fRremeff (FFF\’) B A BT



4. Providing the learner with immediate feedback. / Rremaff (FFTT) P dBTd Uihar Te &A1

Correct Answer :-

« Breaking smaller tasks into large steps. / DI HieT S q g8 S H faUTa w1

10) According to Good and Power, which category of students are more likely to engage in outbound
activities? / 3eo$ 3R T F ITEAR, SET i Fw Aot F r3cass ARt & Fava o i AR
FHTGT &2

1. Social / HIHATTSAD
2. Phantom / W%hed
3. Successful / H%beldl

4. Dependent / AR

Correct Answer :-

* Social / HHTSH
11) Specialized teaching strategy geared toward supporting student’s learning is ./ B & drEs
1 FAST A & faw AR RAfdrse Rraror woEfa gl

1. Writing / or@
2. Scaffolding / EhwifesT
3. Reading / UTo

4, Brainstorming / faaR-HUA

Correct Answer :-

+ Scaffolding / FhwIfesT

12) Which of the following is not one of the main method of deriving traits? / fAF=ifaf@a & & a1 =80T
g #A 1 7ET A F F vF A 92

1. Hypothetical / HTcFheUddlcHDh
2. Lexical / Qmfegen

3. Statistical / HITEIHI

4. Theoretical / Hgifd®

Correct Answer :-



» Hypothetical / UTeFeheUdTcHD

13) Which of the following is true about modern evaluation? / 3T4fa® Hediwa F ar & farafafaa &
¥ Fi a1 wd 7?2

1. Summative evaluation / TR HelAThe

2. Continuous evaluation / Hdd HedThe

3. Product orientation / 3¢UTG S EIhI

4, Rote learning / YT HIEAT

Correct Answer :-
« Continuous evaluation / Hdd Hedlhed

14) Which among the following is NOT the focus in planning and delivering a developmental,
comprehensive guidance and counseling program? / AFafaf@a & ¥ Fa1 e, sag*w ARl 3k
WA FEFA H Aot 9= JR Aalka &= § eae Fa 78 Far 2

1. Financial / faerg

2. Personal / < fhaTd

3. Social / ATHATISIR

4. Academic & career / Q&TTRAT IR HRAT

Correct Answer :-

« Financial / T

15) Who elaborated an enormously complex notion of natural development under a thinly disguised

divinity? / fFEe SRR § Teoed Reaar & dgd wipfas @F @1 vF qaF S aron
faeqa fFar?
1. Baldwin / STes e

2. Erikson / 3R
3. Piaget / fUara
4. Vygotsky / ATSINcEch!

Correct Answer :-

« Baldwin / gTeaTa



16) The value of standard deviation in the ‘Deviation IQ distribution’ is: / ‘fa=reer 3-11?3'1{\ fravor &
AAF AT FT A §:

1.1
2. 15
3.10

4.0

Correct Answer :-

e 15

17) The environment in which children grow up will how they think and what they think
about. / T IRAY & T= a3 8 & % AT § F ag F¥ Wgar § 3 ag ¥4
qraar §1

1. maintain / STAREAT
2. weaken and disturb / FHAAR 3T T
3. scare / STl

4. influence / WHTAd

Correct Answer :-

« influence / UHIfad

18) Gender division is defined as . | T AT Y & w0 & gRenRa fear
TATRI

1. Division between male employees and female employees. /W}m’miﬁaﬁﬂliiqi o 3
TSI |

2. Biological differences between males and females. /Wﬁhﬂi%ﬂl}ﬁaﬁﬁﬂﬁﬁ?ﬁml

3. Male to female ratio. /Wﬁmﬁwml

4. The hierarchal roles of males and females within society. / TATS & 3fdifd gesi iR Hfgarst &t
UGTshH  Y{HBI3 |

Correct Answer :-

« The hierarchal roles of males and females within society. / THTS & 3faifd go®l iR Afgarsii
UaTgehH  YHepT3fT |



19) What is teaching through deductive method? / faarster fafer garr fvator &= X
1. From macro to micro / Ah A II'IE?ﬁ ddh

2. From general to specific / ITHI Y fafery a&
3. From specific to general / Tafr® & @me=g d&
4. From easy to difficult / 3T & Hid dh

Correct Answer :-

« From general to specific / TTH ¥ fafRy d&

20) Students don’t want to learn new concepts whichare__ . / Qﬁ faemadf st - gid % a
T8 YRS &) W= A8 Ar8d 7 |

1. Ambiguous / TieTardeh
2. Intelligible / gigarmar

3. High quality / CESSEY

4. Plausible / &Yeh-T0g

Correct Answer :-

« Ambiguous / GfeTards

21) Which of the following statements is NOT true? / fafafed sy A A P TT I T{ﬂ%‘-’

1. Some diseases and disorders are a product of inheritance. / & o7 3R AR d’?ﬂﬂ'ﬂﬂ' @ﬁ %I

2. Enriched environment enhances child’s development. / € dTdTeR0T gTd & TAHE Dl doTdT Bl

3. All genetic disorders can be prevented by taking proper measures. / 3fad 3UTT &l TH 3-]'@3‘@35
PR P Aepr ST haT T

4. Children are able to learn more finite skills through play. / = Wel & HTCIH & HAd TRTAT Pierer
drEay & et B

Correct Answer :-

« All genetic disorders can be prevented by taking proper measures. / 3/0d 3Ug &lch T 3-]1@?'@?5
PRt & Qa1 ST ThaT Bl

22) In Piaget’s theory of cognitive development, what is the goal of the ‘Concrete operational’ stage? /

R & waeTens e & Rquia #, 7 afrarens saear &1 aaa #7141 872
1. Operational thought / HfhaTcA® foar



2. Abstract concepts / 3Hd FTUROT
3. Object permanence / a&q TEURAT
4. Symbolic thought / UcehlcH® TITR

Correct Answer :-

« Operational thought / EfhdTcA® TR

23) Which of the following is not a concept related to classical conditioning? / fA=faf@d H A sl @t
Fenfadhr FeSrerfAeT (Rufafsa sges) & Fafta srauron 78 &2

1. Neutral stimulus / JCET 3%1Udh

2. Conditioned response / 3-1“@’3’@?[ 3-T§ﬁh_€ﬂ

3. Shaping / fa%qoT (AfTT)

4, Stimulus generalization / 3%IUch HATHATIIHIOT

Correct Answer :-

e Shaping / faeuur (AfTT)

24) Each child is unique. This statement refers to the principle of: / Y& g=I1 ifgdlu 81 U8
Y & Risia o1 Wehfa a3

1. Continuity / faaxar

2. Uniform Pattern / Th&UAT

3. Integration / ThITcHBAT

4. Individual Differences / CRIGEREGaGI

Correct Answer :-

o Individual Differences / dfehed fReaaar

25) Similar attributes are combined together by the child to form ./ & fRwfor &
T gRI TP 1Y A fa=ivarsi &1 fBrares s=mar «mar @

1. Concepts / TR

2. Letters / 378X

3. Words / e

4. Judgments / 3T AT



Correct Answer :-

o Concepts / TdYRUT

26) Children gain a good understanding of scientific reasoning and practice because of

pedagogical approaches that focus on: / ﬁ&lﬁﬁﬁ RHIU A frg R oH dad s A 5=
AP dF 3R T P ST AL BRI B &

1. Writing skills / @l el
2. Scientific ideas / d<ifaed O
3. Communication / I

4. Student activity / foameff Clz[ﬁf

Correct Answer :-

o Scientific ideas / d<ifaep faaR

27) Inclusive education is a new towards educating the children with disabilities. /

wATRA fRieror, Rreai w=t @) RifdE B3 9 fexn & g @ 2
1. Demand / 1T

2. Approach / 3UTITH (BRI

3. Direction / fA&2r (fgam)

4. Process / Ufdhdl

Correct Answer :-

« Approach / 3UTITSH (FT¥HION)

28) Ignoring of the learning- readiness would result in ./ 3RATH - TaRdr 31 Iue
__ FdrwuRom &t

1. Development / IGEAR

2. Maturation / TRUFadT

3. Improvement / YR

4. Frustration / faram

Correct Answer :-

« Frustration / AT



29) Self-evaluation by a teacher shows his role as a . | T e grR1 qh-Jedip Iq@t

_ e ercuiargl
1. Classroom researcher / & Tnemeff
2. Reflective practitioner / faaR=ia gfite (Rudifaea dfdewr)

3. Co- learner / Tg-f&mdt (7R)
4. Facilitator / UfRiefe

Correct Answer :-

« Reflective practitioner / faaRzfid qi%m (ﬁ'lﬁﬁ"q' am?\f)
30) What does the term ‘Dyslexia’ denote? / fewifRTar TUoq f5a fA=fua sxar %?
1. Difficulty in taking notes. / AICH ol H dehclIh|

2. Learning difficulty that can cause problems with reading, writing and spelling. / E@= &7 Hf&aTS M
uee, foar 3R adelr & gaear dar & Fhdl

3. Learning difficulty with number processing and calculation. / HEIAT TEHTHO] 3R 9o & @y e
H BT
4. Specific handwriting disability. / fafery for@rae feeamerdn|

Correct Answer :-

+ Learning difficulty that can cause problems with reading, writing and spelling. / r@a &1 Eﬁi%ﬂlé S
ued, for@a 3R adet d Faear dar X gadr §

Topic:- General English(L1GE)

1) Read the following passage carefully and answer the question given below it.

We stand poised precariously and challengingly on the razor’s edge of destiny. We are
now at the mercy of atom bombs and the like which would destroy us completely if we
fail to control them wisely. And wisdom in this crisis means sensitiveness to the basic
values of life; it means a vivid realization that we are literally living in one world where
we must either swim together or sink together. We cannot afford to tamper with man’s
single minded loyalty to peace and international understanding. Anyone, who does it
is a traitor not only to man’s past and present, but also to his future, because he is
mortgaging the destiny of unborn generations.



The author is very concerned about the danger of nuclear weapons because he feels
that:

1. The world is on the brink of disaster
2. His country is threatened by a nuclear war
3. A nuclear war will destroy human civilization

4, All countries are interlinked and one cannot escape the consequences of what happens to
another country

Correct Answer :-

« A nuclear war will destroy human civilization

2) Read the following passage carefully and answer the question given below it.

We stand poised precariously and challengingly on the razor’s edge of destiny. We are
now at the mercy of atom bombs and the like which would destroy us completely if we
fail to control them wisely. And wisdom in this crisis means sensitiveness to the basic
values of life; it means a vivid realization that we are literally living in one world where
we must either swim together or sink together. We cannot afford to tamper with man’s
single minded loyalty to peace and international understanding. Anyone, who does it
is a traitor not only to man’s past and present, but also to his future, because he is
mortgaging the destiny of unborn generations.

The tone and style of the passage show that the writer is:

1. Unaware of the global power situation

2. A prose writer with a fascination for images and metaphors

3. A traitor who wishes to mortgage the destiny of future generations
4. A humanist with a clear foresight

Correct Answer :-

« A humanist with a clear foresight

3) Read the following passage carefully and answer the question given below it.

We stand poised precariously and challengingly on the razor’s edge of destiny. We are
now at the mercy of atom bombs and the like which would destroy us completely if we
fail to control them wisely. And wisdom in this crisis means sensitiveness to the basic



values of life; it means a vivid realization that we are literally living in one world where
we must either swim together or sink together. We cannot afford to tamper with man’s
single minded loyalty to peace and international understanding. Anyone, who does it
is a traitor not only to man’s past and present, but also to his future, because he is
mortgaging the destiny of unborn generations.

As per the writer, ‘wisdom’ in the present crisis means:

1. Determination to ban nuclear weapons

2. Responsibility to the ‘unborn generations’

3. Awareness of the basic values of life

4, Awareness that we stand poised precariously on the razor’s edge of destiny

Correct Answer :-

« Awareness of the basic values of life

4) Fill in the blank with appropriate suffix in the given sentence:

Rani is a very creat-- girl as she always wins prizes for drawing in school.

1. --ness
2. --ive
3. --ivity
4. --ion

Correct Answer :-

5) Choose appropriate article for the given sentence:

I studied French in high school for four years.
1.an
2. the

3.a

4, no article



Correct Answer :-

» no article

6) Choose appropriate articles for the given sentence:

I am going away for ___ week in September, but I will return during ___ following week.
1. a, the

2. the, an

3. the, no article required

4. no article required, an

Correct Answer :-

7) Choose the appropriate synonym for the highlighted word in the given sentence.
Human beings are vertebrates.

1. Walk and stand erect

2. Spineless

3. Having a backbone

4. Able to think wisely

Correct Answer :-

» Having a backbone

8) Choose the appropriate tenses given to fill in the blanks in the sentence :

Haneesh a programmer. He for Infosys.
1. is, works

2. was, working

3. had, had working

4. has been, has worked

Correct Answer :-

e is, works



9) Choose the appropriate antonym for the highlighted word in the given sentence.

Due to lack of sleep and a befuddled mind, he could not remember if he had to catch the plane
tonight or tomorrow.

1. Clearheaded
2. Addled
3. Expendable

4, Baffled

Correct Answer :-
e (Clearheaded

10) Choose the appropriate conjunction for the given sentence.

Priyatold me___ she was a singer.
1. that

2. while

3. so that

4. if

Correct Answer :-

* that

11) Choose the appropriate determiner to fill in the blank.

We are not familiar with _____ part of the city.
1. this

2. all

3. many

4, few

Correct Answer :-

o this



12) Choose the appropriate prepositions for the given sentence:

We stayed _ a nice hotel when we were  New York.
1. in, on

2. on, from

3. at, in

4. by, in

Correct Answer :-

e at, in

13) Choose an appropriate modal for the given sentence:

we go for a walk?

1. Shall
2. Can
3. Will
4. May

Correct Answer :-

« Shall

14) Choose the best option which completes the dialogue sensibly.

Lisa said, "Tina went to the station an hour ago."

1. Lisa says that if Tina has gone to the station an hour ago.

2. Lisa remarked if Tina has went to the station an hour before.
3. Lisa said that Tina had gone to the station an hour before.

4. Lisa said that Tina went to the station an hour ago.

Correct Answer :-



« Lisa said that Tina had gone to the station an hour before.

15) Choose the option that best explains the highlighted expression:

My mother’s recipes are beyond question, easy and tasty to make.
1. questionable

2. doubtful

3. below par

4. undoubtedly

Correct Answer :-

» undoubtedly

16) Choose the most suitable pronouns for the given sentence:
If ___ catchacold, ____ canspread to others.

1. we ... they

2. you ... it

3. you ... you

4.1..you

Correct Answer :-

17) Which of the following options best combines the two given sentences?

He was late. He reached on time.

1. He was late, yet he reached on time.
2. He was late, she reached on time.

3. He was late and reached on time.

4, He was late if he reached on time.

Correct Answer :-



» He was late, yet he reached on time.

18) Choose the right tag:

Something happened at Rani’s house this morning, ?
1. hasn't it

2. didn't it

3. Isn’tit

4, has it

Correct Answer :-
e didn’tit

19) Read the following passage carefully and answer the question given below it.

Corduroy is fast establishing itself at this year's fabric, while the ribbed cotton itself
provides utilitarian tenacity, texture and warmth, it is the fabric's long held
associations that may provide a hint to its current revival as a fabric for all seasons. It
is Corduroy's link with the good breeding and country living that made it an essential
ingredient in the gentleman's wardrobe along with Wellington boots and decent
woolens. It combines the comfortable nonsense appeal of cotton with the perfectly
correct luxury finish of velvet. Corduroy has the ability to appear either supremely
sophisticated or rough and ready.

What does the writer refer to ‘corduroy's utilitarian tenacity'?
1. Though expensive, it is economical in the long run

2. It does not need frequent washing

3. It is useful because it is durable

4, It has remained fashionable over several years

Correct Answer :-

« It is useful because it is durable



Read the following passage carefully and answer the question given below it.

Corduroy is fast establishing itself at this year's fabric, while the ribbed cotton itself
provides utilitarian tenacity, texture and warmth, it is the fabric's long held
associations that may provide a hint to its current revival as a fabric for all seasons. It
is Corduroy's link with the good breeding and country living that made it an essential
ingredient in the gentleman's wardrobe along with Wellington boots and decent
woolens. It combines the comfortable nonsense appeal of cotton with the perfectly
correct luxury finish of velvet. Corduroy has the ability to appear either supremely
sophisticated or rough and ready.

With respect to the passage, corduroy is necessary in a gentleman wardrobe because:
1. It has its associations with good upbringing and a conservative lifestyle

2. It goes with wellington boots

3. It can be an idea alternative to the woolen clothes

4, Its current revival gives a taste of the latest fashion

Correct Answer :-

« It has its associations with good upbringing and a conservative lifestyle

21) Read the following passage carefully and answer the question given below it.

Corduroy is fast establishing itself at this year's fabric, while the ribbed cotton itself
provides utilitarian tenacity, texture and warmth, it is the fabric's long held
associations that may provide a hint to its current revival as a fabric for all seasons. It
is Corduroy's link with the good breeding and country living that made it an essential
ingredient in the gentleman's wardrobe along with Wellington boots and decent
woolens. It combines the comfortable nonsense appeal of cotton with the perfectly
correct luxury finish of velvet. Corduroy has the ability to appear either supremely
sophisticated or rough and ready.

As per the author, the special quality of corduroy is that:
1. Both the rich and that not-so rich can afford to buy it

2. It combines the virtues of both cotton and velvet

3. It needs no ironing

4. It contains the correct mixture of cotton and woolen



Correct Answer :-

- It combines the virtues of both cotton and velvet

22) Read the following passage carefully and answer the question given below it.

We stand poised precariously and challengingly on the razor’s edge of destiny. We are
now at the mercy of atom bombs and the like which would destroy us completely if we
fail to control them wisely. And wisdom in this crisis means sensitiveness to the basic
values of life; it means a vivid realization that we are literally living in one world where
we must either swim together or sink together. We cannot afford to tamper with man’s
single minded loyalty to peace and international understanding. Anyone, who does it
is a traitor not only to man’s past and present, but also to his future, because he is
mortgaging the destiny of unborn generations.

What is the best way to escape complete destruction in an atomic war?
1. To ban nuclear weapons

2. To turn to religion

3. To work for international understanding and harmony

4, Invent more powerful weapons

Correct Answer :-

« To work for international understanding and harmony

23) Read the following passage carefully and answer the question given below it.

Corduroy is fast establishing itself at this year's fabric, while the ribbed cotton itself
provides utilitarian tenacity, texture and warmth, it is the fabric's long held
associations that may provide a hint to its current revival as a fabric for all seasons. It
is Corduroy's link with the good breeding and country living that made it an essential
ingredient in the gentleman's wardrobe along with Wellington boots and decent
woolens. It combines the comfortable nonsense appeal of cotton with the perfectly
correct luxury finish of velvet. Corduroy has the ability to appear either supremely
sophisticated or rough and ready.

Corduroy is a fabric for all seasons because:



1. Of its peculiar texture and warmth

2. It is made popular by catchy advertisements

3. It can be worn not only in winter but also in summer

4. Gentleman can wear it in both formal and informal occasions

Correct Answer :-

« Of its peculiar texture and warmth

24) Choose the appropriate tense to fill in the blank in the given sentence:
Aarav told me,he _ come tomorrow.

1. will

2. has

3. was

4. had

Correct Answer :-
o will

25) Rewrite the following changing the active sentence to passive.

Why does one neglect duties?

1. Why are the duties being neglected by us?
2. Why are the duties neglect by us?

3. Why the duties are neglected by us?

4. Why were the duties neglected by us?

Correct Answer :-

« Why are the duties being neglected by us?

26) Fill in the blank with the correct option in the given sentence:



She is a nice girl, a bit --mature, but very intelligent.
1.im-—

2. in—

3.un—

4. pre—

Correct Answer :-

27) Choose the appropriate option that rewrites the given sentence in its active voice.

I think we are being followed.

1. There is nobody behind us.

2. Someone followed us, I think.

3. I thought that people are behind us.

4. | think someone is following us.

Correct Answer :-
« [ think someone is following us.

28) Choose the option that substitutes the given phrase appropriately.

One who offers his or her services of his/her own freewill
1. Slave

2. Volunteer

3. Servant

4, Worker

Correct Answer :-

o Volunteer



Choose the right tag:

It'll rain soon, ?
l.isn'tit

2. wouldn't it

3. won'tit

4. will it

Correct Answer :-
e won'tit

30) Read the sentence carefully and choose the option that has an error in it:

Heavy luggages must be avoided in short journeys.
1. Heavy luggages

2. No error

3. during short journeys.

4, must be avoided

Correct Answer :-

e Heavy luggages

Topic:- General Hindi(L2GH)

1) AYT HaE T A

et I MR gu frga v g sg B |1
T o Fefa 90 Ft 91 Y § 3 @it Wt
Fled Tgd garad g ARE-IT Y @t
Frar gy framafa iy iy ¢fa 1 wre= A
Rer™ AyaT a-aed gk gawR &1 St

o I Hgd Hid B Al g STgufd & st
FeT B 3fe RO & AR Qe g Afg sl

g~ g $gd P9 & WTaT &I g oI ardll

MR i SAIST NI g Fd WTHA T |

Yool ¢ ¢ aTe Turad §9d 99 ggeTdll

T W B U Wt qefE wag T
e g@ R &1 & ard sgafa g~ g~ 9
g P TAYS TG15 0 o1 DI Y|

TR [T AifE Mes 3t g Jrar uain



S UL B UgH 19 TR T UY BT IR JaTgd:
UT - 916 | a7 SI-91 7Y TR-9R IO I 872
1. JFBR AT-TUdT Bl &2

2. JFERT 1A Tohelell &2

3.gH e aifa & 31T @7
4. fopder gu did &7

Correct Answer :-

« JFER ATC-TUar Bl g2

2) BT Hag geift A

fordt 9~ Hifg gu frga ws 98 o g @ Bt
q St Pefd ga Bt 9 <O @ ? e i
Fled [gd ~gaTad oig AH-w Y d@dti
Frar gy framafa uf fyr gfa 7 wme= A
e YA A-HIE g gawR ot st

Tl I Bgd Aid B Agl g SGATd B STl
FeT B 3fe T & AR Qo gl A |

g~ g Fed 9 8 WA &1 g R ardll

TR A ST MR} § & WTHd |

Yl ¢  aTd Turad §9d 9 STl
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g & @ a¥ gd WERET & FREr W WEA T R AT ) qeuh ey faw afFd &
vwm#agamalmﬁﬂaﬁamWWWWM|ﬁﬁmm§?|w
WA & a1 sft dfs-argfas e @ vdew 1 Agca 941 @l 404 $.0F OFW A W §§ A 3K
427§ﬁm$mmmﬁmaﬁtﬁmmmﬂgmlwmwlz’r#m:ﬁmﬁ
mﬁ&rﬁmﬁﬁmﬁmmﬁlmﬁwmﬁﬁmﬁ?mmmmmm

39T I T YGHT A S AT G FT 3 I3
- ‘g F1 faaeT gar 87

1. GsSaTH

2. garH

3. 37del

4, farH

Correct Answer :-

N N

T WA ¢l 39 OR ¥ U F Al wEl F afer S wEar g- 3,
ISl @ M B F FROT IO F QAT Icwwd g € swfaw aw qu dw
W 3HA 3F BR-BIE TRAST THGEY F e 3N Faaa W &1 57 TR-ueal & e Ry & @

22) #F F gEU AF FA §1 I§ ANT F gfAvl-gdf oR W ud § o g i #F or-ek it
Fedl, =t



3ea@dd ¢ W AW A AEglaar, Aegadt smr # afowr sk gl smr & awifaar) afer @
Tl e @ agd Rt aF gy dcfie-wrglow d9A F Aree-gn #71 Few faqré’naﬁarmafr

éwqj“ A H AA-TAA F HHAYS SeeAcl HT ER A FI;T| Trad) Aared) §61 & & Ig Jewdfal WA W
Ugqd IS |ﬂﬁﬁv$ammaﬁ@ma?sﬁmmm-wmm%lmaummﬁ

9,

¥

F a1 a¥ gga ‘AT F ‘HREr W AT T | T 1 T wer fawh afed &
‘uﬁwm#a'gammm#ﬂaﬁaﬁWWWWM|W#MW§§|W
Wod & a6 ff dgfoe-agfas e @ Wew 1 Aged 9o W@ 404 §.99 W H W g € 30X

Correct Answer :-

. difge duer

23)ﬂmaﬁga%-:na1€r|
ﬁmﬁwmﬁwmmwm%mu
q ot Fefa g A 30 St & } e WA
meﬁaﬁ%mﬁa—a"raﬁa’mu
Frat g Ramafa o ofr afa & am@er ¥
e Bepaer A g gae A S

A @ FEd AT F Aegl q FTGATT Fa ST
el # 3 RE & AR Faa g af s
gfer 9f Fga Fla § AT B § AR A
AN A FEET MY q Fa THAS T
m%%mmmﬁmu
amﬁaﬂmmmmamﬁ
mwmaﬁﬁmmﬁaﬁaﬁﬂéu
mmmmmé’raﬁml
wmmﬁmﬁﬁzﬁﬁmawu

39T UGHNT Y YGHT Al T AT YT FT I TS
W - dTad P fhas g@arT fBemar ar @1 82
1213

2. 9@r

3. gsrEr

4. TSt



Correct Answer :-

24)ﬁmm-§aevna1-en

frelt a7 MY qu e a3 7% Ir9g @ o
q o FEfa g A I T4 #F ¥ o A
FTed @A Fedlad slg ATNA-HI 75 AN
Frat g Ramafa of ofr afa & amEer adn
e Fspae #eea gR g3 A S

A | Fga AT F Aeel J TATT Fa TR
FgT I 378 RT & AN o= g A e

g 9f Fea Fl § AT A § AR A

IR Ag TR MY J FA FAHAS A0

el & & 7ar9 A9Ed §Hd WS AGFI

q A N AR W aBEf Fag 7 @
Aea g@ R # T aid sgafa gia gfa dgh
Yog FIel oG T4Ig FTAd @ FI

X w1 AfE et & & & a7mar G q@

39T TSI F YGHT AT T AT YT FT I TS
Yo - dTeish FH HROT § Qo Tt ST @ 872
1.30 gy e &

2. 38 AT qreih Wold A8 & E B

3.3 e ¥ Ra o @& 8

4. 38% g el ag ¥

Correct Answer :-

- 38 R @ Ra & & #

25)ﬁmm§aa-:nzna|

et X AfE qu Raw o5 77 39 ¥ o
q S FEfa a A 3 A #F § e A
FTed Igd sedlad stg aAfIrT-Ar 7 AN
Frar g fmafa ofr ofFr afe & s W
e Pspae Aasea R gt 1

A | Fga AT F Aeel F TGATT Fa SN
FgT w3 RT F AR Qo= g afF s

g 9far Fed Fla § A 1 § AA aa

I AG STEET M J Fd THS 70|

qedht & & Tare AgTEd gua W qgEl

A F AR e e Fag T G

A 7@ R # T ard sgafa g gfa dsh

73-10



GG FI Ty TaIE AR & F U
X w1 AfE e & & & q7ar G q@

39YFA ISIIT Y TgHT Al & AT YT FT 3R I8

TR - YEHIer Y GfFd ‘AT A § O a6 F A F H e g2
1. 90ia

2. fOar

3. dTelch

4. IMEAT

Correct Answer :-

26)ﬁmm§aa-:nzna|
ﬁﬁhwmﬁaﬁrmﬂgwaﬁ%mu

o S ety ae A Ah St gy ¥ amh A

FTed Igd sedlad sig aAfarT-Ar 7 AN

Frar g fmafa ofr ofFr afe & s W

e Pspae Aasea R gt 1

At @ FEa AT F Aegl q FTGATT Fa AT

FgT U 3 RT F AR Qo= g afF s

g 9far Fed Fla § A ' § A A

I A STEET M J Fd THS 70|

Tedht & & Tare AgEd gua WS qgEl
qmﬁmmmwgamu

Aea 7@ R # T ard sgafa g gfa dsh
gagmmw@ma?raﬁugl

T wA A e A @ & A q q@n

39T TChNT F YGHT Al T AT YT FT I TS
TR - YIS H I e fFE UHR A9 W 87

1. gehT AT

2. ATIIRY

3. FFR
4, IR

Correct Answer :-



#a1 Fag adalt DA

frelt ¢ A qu R o5 7w g ¥ oA
q ot Fefa g A 30 ST & § e WA
mmmﬁ%mﬁa;ﬁaﬂ?a’mu
meg:ﬁuﬁﬁqﬁrqﬁraﬁramﬂfn
e Psgae Aasea R e H

A | FEd Aer F oflegl  TGATT F AN
FgT w3 RT &F AR Qo= g afF s

I I FEd i & A F ¥ A A

AN A STHET MY q Fd FHS AT
m%%mmmﬁmu
amﬁﬁmmmma@él
mﬁmﬂvaﬁ#aﬁmﬁraﬁaﬁﬂ?u
mmmmmé’rﬁml
mm:ﬂ%mﬁm?}maqﬁu

39T TEhIRT F YGHT A T AT YT FT I TS
Wl - geier A A “SfF anfderedt off A F oS o B2

1. qfH
2. 1T

3. &
4. TANEY

Correct Answer :-

2s)ﬁmmaa-:na’|a|
ﬁﬁﬁmmﬁwmﬂswm%mu
q ot Fefa g A 30 St & } e WA
mgﬁmﬁaﬁ%mﬁmﬁraﬁa’mu
Frat g Ramafa of ofr afx & am@er 9
qerd e Aaaes gR geuT 1 S

A @1 FEd AT F Aegl q FTGATT Fa AT
FgT I 3t RT & AN Yo & a s
gfer 9f Fga i § AT B § R A

AR g FAET A Fd FHS AT
m%%mmmﬁmu
amﬁﬁmmmﬁgamﬁl

A 7@ R # T ard sgafa g gfa dgh
mmmmmé’raﬁuﬁl
mmmﬁmﬁﬁ?}mawu

39T I F YGHT AN T AT YT FT I TS
wee - w3t TaTer geH A-oF F FAT gHAS 82

1. 9TH [T W



2.39 9 0 W
3. Weld WX

4. I W
Correct Answer :-

o A W W

29)ﬂmaﬁga%-:na1€r|
ﬁrcﬁawzﬂi%ag:ﬁ'qaagugaa{%mau
q S Fefa a0 A 3N S5 e § o A
FTed 6 Fodlad Slo ANA-HY 75 AN
Frar g femafa ofr ofyr afa & s W
e Bepaer Ao g gaew A S

A G FEd AT F Aegl q FTGATT Fa ST
el F 3 RE & AR Faa g af s
gfer 9f Fga i § AT B § AR A

AN A FEET MY q Fa A A
m%%mmmﬁmu
amﬁaﬂmmmmamﬁ
mwmaﬁﬁmmﬁaﬁaﬁﬂéu
mmmmmé’raﬁml
wmmﬁmﬁﬁzﬁﬁmawu

39T I Y YGHT Al T AT YT FT I TS
wee - ‘FeGIS r quit A §2

1. Brell 3R A

2. & 3 A

3. 9l 3R prel

4. FIUEr AR gl

Correct Answer :-

o odl 3R A

30) #AT Fag T N

frelt a7 MY qu Raa 3 7% Ir9g @ o
q ot FEfa g A af S & T o A
mmaﬂmﬁ%mﬁa"rﬂ?aﬂm
mwﬁwﬁﬁqﬁrqﬁraﬁramﬂﬁl
e e AqAes g gaew Hr S

A | Fga AT F Aeel J TATT Fa TR
waﬂ%sﬁﬂva?mm?rﬁﬂ%ml
g 9f Fga i § AT A § A A



AN A SrEET MY q Fa THS T
aﬁa%maﬁmmﬁmﬁu
amﬁaﬁmmmmaa"@h
mﬁmﬁvaﬁ#aﬁmﬁraﬁaﬁﬂ?u
mmmmmé’rﬁﬂm
mmm‘%mﬂwaﬁra‘}?}mawu

3YYFA ISIIT Y TgHT Al & AT YT FT 3R I8

TR - AT o dTeeh F1 q¥ 9 W FAT gt $T IMearaa fGar 412
1. AE d&ad B

2. TS deY T

3. A1 dgd T

4. gig g @1

Correct Answer :-

o ANEY Tood Pl

Topic:- Social Science (SSC)

1) What do you mean by ‘Eurytherm’ organisms? / “gyardt” (gtyw) el I emu Fr Juga 82

1. It does not need oxygen to survive. / 38 Siiidd {Ea & folw TSI & TaThdT el
Bl

2. It is able to tolerate a wide range of altitude. / Ig "ﬁ'lg T T W 5[@'5” G g A
A &I BT %

3. It is able to tolerate a wide range of PH value. / & PH HATA T faegd AT Pl Tgd il A
&TH BT B

4. 1t is able to tolerate a wide range of ambient temperatures. / Ig TIRAM ATTHATAT T Th ﬁ"v_dff
ST P Teel XA A T&TH gl &l

Correct Answer :-

« Itis able to tolerate a wide range of ambient temperatures. / I& URARMN ATUATAT HI Th ﬁﬂﬂﬁ
ST P Teel XA A T&TH gl &

2) Which of the following was/were common to both Buddhism and Jainism?
1. Avoidance of extremities of penance and enjoyment.

2. Indifference to the authority of the Vedas.



3. Denial of efficacy of rituals.
Frufafea & & o9 ais ud ok 99 o g & forg arm=r am?
1. TURIT 3R HRT B TRY AT A T2
2. dg1 & HfUPR & ufd Igrft=ar
3.3 8! @ YUTGHTRAT I STPR

1. 1only / hael 1
2.1and2 / 1 U9 2
3.2only / &hdel 2
4.1,2and3 / 1,2 Td 3

Correct Answer :-

« 1,2and3 / 1,2 Td 3

3) The position if the sun, the earth, and the moon are in straight line is called: / ?I!f, qu‘ﬂ 3R g
Pt et Y A g9 R fRufa & wer S 3:

1. Cliff / fFerp

2. Conjunction / {Iﬁ
3. Seiche / STelgIgaT JASU(
4, Syzygy/gﬁﬁ'ﬂﬁ ﬁg IS EIEL

Correct Answer :-

- Syzygy / Ziafagid ﬁg RT3 (

4) The celebrated monarch known by the epithet “Devanamapiya Piyadaasi” was: /Ufig 99T1e oY
IuIfd g U firae =it /e | o <rd 3

1. Kanishka / eIt

2. Ashoka / 3121k

3. Chandragupta Vikramaditya / TIga[@ fashaTiced
4. Akbar / 3TheX

Correct Answer :-

« Ashoka / 310



5) Kanishka’s rule extended over Afghanistan and part of north India and he had
established two capitals, One was Purushapura. Which was the other? / &fas® &1

A FHIMfAEdler AR 3 6Rd & ¥ W RAEga o1 3R 389 &) verwrfagt
At #1 off, Fad & v off gowqnl g@dt Sl @ ofr?

1. Taxila / cI&ITrel
2. Mathura / HYIT

3. Pataliputra / UTCellgs

4. Sakala / Hbldll

Correct Answer :-
o Mathura / EFW:N

6) Under which dynasty, earliest inscriptional information on land grants is provided?

| frw TS F A, R Iefee W FEw wuH R Seert vee A St 8
1. The Mauryas / A

2. The Satavahanas / Hlddlgdd

3. The Sakas / (b

4. The Guptas / 9d

Correct Answer :-

o The Satavahanas / ATddlgdd

7) The Minimum Support Price was introduced in India in the year i

qAGH FHET Hed AR A a9 A e R arar o
1. 1964
2. 1984
3.1974

4. 1954

Correct Answer :-

+ 1964



8) What is a favourable balance of trade? / SATIR FT U ekl Hdelel AT §?
1. Exports equals imports / ot 3 & WaR §

2. Exports must be greater than imports / o 3maa @ 3% g afew

3. Increase quotas / G ARy

4. Imports must be greater than exports / faata &r Jelcl # 3marg F¥e B T@1few

Correct Answer :-

« Exports must be greater than imports / foata 3maa @ 31f® @9 arfee

9) aimed at providing credit or loan and other facilities to the small
and marginal farmers, agricultural labourers, artisans and small entrepreneurs in

rural areas. / FT 3gged AT 8T F R 3k Hwia fFramel, R Aeg,
maﬁtmmﬁﬁaﬁmmwaﬁtﬂaﬁwwm%l

1. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HgTHT il T@T{ TN SR
RS SfRfaH (Fm)

2. Prime Minister Rural Development Fellows Scheme / UUTAHAT ATHOT dhra thell Iiatel
3. The Rural area Regulatory Board / WTHIOT &3 fSamers qS
4. The Regional Rural Banks / &1 10T deh

Correct Answer :-

. The Regional Rural Banks / &3 ATHOT dp

10) What type of stream pattern develops on a dome type area? / fh¥ Y& FT 39arg Yoot
Tae & TFR F &7 H FFfa gar 82

1. Radial / 30 (X2Ten)

2. Parallel / GHATATAR

3. Dendritic / GATP D (J&TTHR)

4. Trellis / SITelIAT

Correct Answer :-

« Radial / 30T (3T



In which river valley hominid fossil has been discovered in India? / {Rd A g & ardt 7
gifafas Sharea & @ fr 71§ &2

1. None ofthese/é?rcff o Ehélé F@f
2. Ganges / I

3. Indus / &Y

4. Narmada / el

Correct Answer :-

o Narmada / FI?-SE\T

12) Who reviews the distribution of revenues between the State and Local Governments on the
one hand and between rural and urban Local Governments on the other? / T& X T=T 3T
AT a&ERT & @i 3 gl 3 aEior 3R aEd T R & i e &
faavor v weftam i Far &2

1. District Finance Commission / Totelr T 3mater
2. Union Finance Commission / hgrg fad 3TTeT
3. State Finance Commission / /e o 3mater

4. Zilla Parishad / foterm afwg

Correct Answer :-

« State Finance Commission / T fad 39T

13) Who is the head of the Indian Republic? / TR I0TdT & Rrsecy FiT &2
1. President / ITEUfA

2. Prime Minister / TUTATAT

3. Parliament / TEG

4. Judiciary / =TI UToThT

Correct Answer :-

o President / Tgufa



Who among the following are not the women Presidents of Indian National Congress? /

fmfaf@a & @ sl sl T FR/a @ Afger sreger a8 @
1. Kamala Devi Chattopadhyaya / @daTelicdl ﬂE\E’I’CIT‘EII'RT

2. Aruna Asaf Ali / 31%UT 3TH% 3l

3. Annie Besant / Ul J¥C

4. Sarojini Naidu / @RI BIREY

Correct Answer :-

« Kamala Devi Chattopadhyaya / @elcdl EI@ETCIT‘E’JIW

15) Who is the author of “Deschooling Society”? / "3 wﬁm A" & dE@d FiT &2
1. John Locke / SfieT &lfdh

2. Jacques Rousseau / Slrd &4l

3. Jean Piaget / S OIS

4, Ivan Illich / SdId Eiaﬂ
Correct Answer :-

o IvanIllich / SdId $i§|?«l

16) Who said that, “Non-alignment is more or less a residue of historical circumstances, we
cannot align ourselves with the West, with its colonialism, and there is no question of course of
joining the Soviet bloc”. / et Fgr ¥, “arefavdaran, wemsmr Maerfds aRfFufoaat #
HAF AT FH 3GAY B, 7 TIF & 3Uf@AAAE I IRGHA & AT A3 A T, 3R
Wfdwa e & wfAd @ F1 F$ Far § A& 1

1. Nehru / &%
2. Krishna Menon / 80T Helel
3. Tito / &

4. Nkrumah / <R ATE

Correct Answer :-

« Krishna Menon / 80T Helel



17) Who is the overall in charge of the efficient and fair conduct of elections in the concerned

constituency? / Haflra faTaer & & gomal & Farer AR fAvqer wareer & q@a o
FleT &

1. Polling officers / G 3TTARRY

2. Returning Officer / Fa=a (Refeer) 31f¥eRY
3. Presiding officers / MorAll fARRY

4. Visiting / 3(ITceh

Correct Answer :-

« Returning Officer / faam@a (Refam) 3iflamrl

18) Who was known as “Hazar Dinari”? / "goIR fGa " & &9 #A &l I Ja A2
1. Balban / deTdel

2. Razia / ITo1T

3. Mallik Kafur / #fereh &g

4. [ltutmish / $ed ER)

Correct Answer :-
« Mallik Kafur / #fereh g

19) Finding the relation between “altitude” and “temperature” with the help of given examples

happens in which approach? / GT 1T 3grgxon Y #Agg ¥ "Furs" 3R "duAE" & @iT
A &1 9dT 9T 39 3YRH & gidr & -

1. Concentric / Hohigd

2. Chronological / EFIFTIW’LF
3. Inductive / 3TITHATHSD

4. Deductive / TA9ATCHS

Correct Answer :-

o Inductive / JTITHAICHD



In a Parliamentary form of executive it is essential that the Prime Minister has the support of
the majority in ./ HEET FEABRON # T¢ ITaeqF § & T H qgad F
A #

1. Rajya Sabha / TaadHT

2. Parliament / §T¢

3. Lok Sabha / SllhaHT

4. Vidhan Sabha / fTaararasim

Correct Answer :-

« Lok Sabha / SehaHT

21) Receiving, responding, valuing, organizing and characterizing are the levels of which of the
following domain? / WTcd HIAT, YTATHAT ST, ATTT FIAT, SHATTYT FAT 3R qoieT HLam
39 AT F TN §-

1. Affective / HTAIcHD

2. Revised Taxonomy / FMTAT CararATAr
3. Psychomotor / #<l: U

4. Cognitive / TATATCHED

Correct Answer :-

o Affective / HTdIcHSD

22) During the Mughal rule which of the following traders came to India first? / FITel ATHA &
ek fefaf@a & & Fi 91 A g AR 3T 9

1. English / 373ty
2. Danish / 331

3. Dutch /39

4. Portuguese / W

Correct Answer :-



23) is a system of government in which the power is divided between a central
authority and various constituent units of the country. / WHR T TF gomelt §
oad war Fr v FEr wifawor 3 g A AR ger swEat F fv Fanfaa Fan
STt B

1. Decentralization / fadhegrep<or
2. Centralization / he,ep0T

3. Federalism / EdTG

4. Democracy / STAd =

Correct Answer :-

o Federalism/ H’EIEI'IE\"

24) is a process that involves the assembling, storage, transportation, packaging
and distribution of different agricultural commodities across the country. / uF gfhar &

forwe o s & R R avqgat & aaiee, sisror, wRage, S ik Raor afae
ad &l

1. Rural development / ITHOT faepre

2. Rural marketing / JIT3fI0T faqorey

3. Agricultural marketing / Eﬁﬁf o

4. Agricultural networking / P Scafda

Correct Answer :-

« Agricultural marketing / Efﬁ oot

25) The Planning Commission was set up in ./ TYSTSTT 3TART Y TATIAT q
TS Y|

1. 1960
2.1940
3. 1950
4. 1945

Correct Answer :-

+ 1950



26) The evidence of pit dwellings have been discovered from which of the following Ancient
Indian sites? / FFIfaf@d # & e yrdier T Toell @ adar@l & gamor F1 @ g
g2

1. Lothal / eT2rel

2. Burzahom / W

3. Ropar / qus

4. Kalibangan / STelTeIaMT

Correct Answer :-

27) The most prominent challenge faced by a social science teacher is: / afae A
et & wFgE wad yHE Al g @

1. Inadequacy of text book and handbooks / UTed G&dh 3R ‘I%Fﬂ&ﬁ T TG
2. Inadequacy of in-service training programs / HdTdhTelled UTAETOT PIABAT BT 3TTATHAT

3. Lack of proper evaluation tools and techniques / 3fad d-km’-liqvo-i 3UHIOT 3R dhellchl Pl
AT

4. Insufficient time to attain long-term objectives / SreipTTerd 32T 61 uifd & forw 3roatg
AT

Correct Answer :-

« Insufficient time to attain long-term objectives / STeiehlToldd 32T T UTid & forw 3mgatd

28) The most suitable approach to promote interactive environment in social science class is: /
Ao e At Far F WER gaeeAs aRaer # geEr & ¥ fAv wged sugEd
TiSesior gl

1. Frequent testing / T adiator

2. Showing documentation / G&dTdwl gl

3. Lecture and explanation / <JT&dled 3R TUSIHIoT
4. Cooperative learning / HEPRY TTAIH



Correct Answer :-

« Cooperative learning / TEDPRT TTAITH

29) The method of inquiry-based learning which gives students time and support, they can pose
original question and investigate through their own methods is known as: / STa-3menRa

e f geufy ot oml TR AR FHST yE R B, TS § AT weT F1 mey
HAFF FT & ! & ATEAA § AT T §, F AT & T F I e

1. Structured inquiry / TXRIT S

2. Conformation inquiry / fa&gor Sra
3. Guided inquiry / fAERT Jra

4. Open inquiry / Q?-ﬁ Sirde

Correct Answer :-

« Open inquiry / Q?-ﬁ Srdc

30) The Village and Small Scale Industries-Committee are also known as ./ TqTH
3R oy sg@er-afafa # & ¥ # ff S Frer B

1. Desai Committee / awé afafa

2. Krishnan Committee / poUTel afafa
3. Karve Committee / &T1d TfAfA

4. Rao Committee / /g FATA

Correct Answer :-

« Karve Committee / hTd GfATY

31) The method that does not help to develop critical thinking skills among the students is: / dg

fafr s orl & @i Azt A Fhra FFERT w0 7 Agg T8 T L gl
1. Rote learning / o€y fafdr 3rfera

2. Project based learning / RIS 3R 39

3. Collaborative learning / FEATYOT JTAIH

4. Self-regulated learning / Tg-fafaafda fQerar




Correct Answer :-

« Rote learning / Hoey afy e

32) The demerit of problem solving method is: / FHEAT fAaror R@Afer &1 T gl
1. It is purely individualistic in nature. / Ig CF—E% A ﬁf‘{l’v&’ O O Ihhardr g

2. It brings affective changes. / J& HPRIcHD TR T &l

3. It does not help in easy assimilation of knowledge. / ITE T Pl HATHAT F HcHATT DBl H
Aee el AT B

4. Tt does not develop power for critical thinking. / IJ& eI Ridel & fow &7aAdr fawfad =&t
BT Bl

Correct Answer :-

« Itis purely individualistic in nature. / Ig Cl?fﬁ H* ﬁ?j‘ﬁ' w7 § gihardr gl

33) The Government can present demands in the middle of the financial year if it
feels that more money is required than estimated in the annual budget. / §3&®R fadig a¥ &

e & AT (3A0E) geqd R wwdr ¢ IS 3@ worar @ B o soe &
HTA ¥ HF o T HTaRAFAT B

1. Complementary / QTh
2. Need — based / 3TaIhdT-HTUTRA

3. Mid — term / #ALITATA

4. Supplementary demands / 31JqIh

Correct Answer :-

+ Supplementary demands / 3JqIh

34) Which one of the following is not the nature of social science? / fAF=ifaf@a & & sia
wATTor faamer v gfa 7dt 82

1. Study of man’s development through ages / ?ETIT a AT & e &1 egaa
2. Study of human relationship / HIAd TIUT BT FCIIA

3. Unrealistic course of study / €I &1 TS BIREE]



4. A unique combination of various subjects / TaT¥eet fAWAT &T Teh 3efaT HISTA

Correct Answer :-

« Unrealistic course of study / 31¢TT BT FIATIATET UTSThA

35) Which one of the following is measured through CCE? / &afaf@a # ¥ 5% difis &
ATEH { AT 1T 82

1. Physical and motor development of students only / dhdel BEl @ ANIR® 3R ATRd-gaed
faerra |

2. Scholastic and co-scholastic achievement / hdel Af&Hd 4R W-m 3T

3. Co-curricular achievement only / hdel H&-UTGThA U]
4. Gradients of scholastic achievement only / Pad &P suafer & 3dR-dald |

Correct Answer :-

« Scholastic and co-scholastic achievement / &hdel AT&R 3T W-m 3T

36) Which schedule of the Constitution prescribes a list of 18 functions to be performed by the
urban local bodies? / GfgtmsT & fre Hﬂﬂjﬁ 7 agll Ty Aemrt SanrT fFu S arer
18 wraf v g fuifa #r 75 82

1. 12t/ 12

2. 9th / ocft

3. 10t / 104t
4,11t / 114%
Correct Answer :-

o 12th/ 104}

37) Which is the most suitable philosophical approach that is capable of inculcating absolute
values among students through the teaching of social studies? / dg ST A1 9 39gFd
erifas Tfewior § & wenfas sreaae & Rreror & Areds @ ol & T gEr Jear
1 RAFfa w1 #§ ga# 2

1. Realistic approach / JATIATGT ETIOT
2. Idealistic approach / 3TGRTATET ET¥RIOT



3. Naturalistic approach / WI’(?[ HECT
4. Pragmatic approach / TITAEIReh T IRHIOT

Correct Answer :-

« Idealistic approach / 3TGLTargr f¥epror

38) Which is the Lightest layer of the earth? / J2dt &I Ha& geah! Tl FisT AT 82
1. Lower Mantle / f&=relT (UT@R )#Hed

2. Upper Mantle / 5T (VAR ) Hcol

3. Crust/ 8] UUET (Uce)

4. Core / IS

Correct Answer :-

« Crust/ 8 U¥<l (3Ucd)

39) Which of the following methods is capable of enhancing psycho-motor abilities of students?

| rafaf@a & @ s @ R sl i Aa3F aHaEt ) g § gaer §
1. Simulated method / PTIA Al

2. Work experience method / GoE) AT afer

3. Lecture method / <IT&dT fafdr

4. Demonstration method / U&= fafyr

Correct Answer :-

« Work experience method / Gap)) AT fafer

40) Which of the following is not the educational objective in the teaching of social studies? /

frfaf@a & ¥ sla sl srcaas & Reor § AMAF 3827 a8

1. Preservation of democracy as a value system / eI UUTTell @ &9 H oAldbdd Pl FI&0T

2. Creating and maintaining democratic citizenship / GlehclITadh ANTREGAT Pl fHAATT FaT 3R
38 HEIHA WA

3. Conquering the territorial jurisdiction of neighboring countries / TSIAT &R & 3fUYPR &F W
fasra gra &



4. Peaceful co-existence of people in this earth / & AT X @Mall &1 eMfadqol Fg-3edcd

Correct Answer :-

. Conquering the territorial jurisdiction of neighboring countries / USIET ¢2lf & YRR &7 T
fasra gra &

41) Which of the following type of Agriculture is also known as Jhoom cultivation in India? /

frmafaf@a & @ 7w voR & s A aRa & 3@ St F aw § it e Jrer 82
1. Primitive substance agriculture / 3fGH uerd Hfy

2. Extensive substance agriculture / SITaedh T Galy

3. Extensive commercial grain cultivation / 0 dT0Toddh ATl I Wl

4. Mixed farming / TRf&T @dr

Correct Answer :-

« Primitive substance agriculture / 3Tf¢H Ty Py

42) Which of the following dynasty was ruling in India, when Alexander invaded India? /
farafaf@a & @ sl @1 voaw aRaT F A F @ A1, 99 AFI F AR W 3THAT
far?

1. Nanda dynasty / ¢ aer

2. Shunga dynasty / ‘{[?IT asr
3. Gupta dynasty / I aLr

4. Mauryan dynasty / AT aer
Correct Answer :-

« Nanda dynasty / i, a9l

43) Which is recognised as one of the first environmental movements in the country? / fora qor

# g IOy eleel & @ UF F ¥ H AT 9od 82
1. Chipko Movement / TIU@! 3Tarele
2. Kisan Movement / fh&T 31TEToled

3. Lok Satta Movement / ehTdT 3TTG ol




4. Narmada Bachao Aandolan / o-ld-(iC‘I T3 3Tegiold

Correct Answer :-

« Chipko Movement / /IUe! 3fTarele

44) Which among the following is not a scoring tool to evaluate the quality of students? / GIEN]

$ U FT HeAFT FA F AT AERRT § ¥ Fa @ AN suwor a8 @
1. Rubrics / ¥fsh

2. Observation / 3Tdclidhel

3. Checklist / ehferee

4. Rating scale / HedThel UATAT

Correct Answer :-

« Observation / 3Tdellchel

45) Which among the following is one of the first commercial banks established in India? /

farafaf@a & ¥ sl a1 9Ra F vufia yuw aftfoas d9 & @ &
1. State Bank of India / AR ¥ dh

2. Bank of Hindustan / &6 3iT% Wﬂﬁ

3. Bank of India / & 379 3f3ar

4. Central Bank of India / §=¢dl d& 3% sf3ar

Correct Answer :-

« Bank of Hindustan / & 3{T% i%o—gFHIEI

46) Which one is not a characteristic of summative evaluation? / &1 # ¥ ST MTHAS
Heare 1 oF Adwar 7@t 2

1. It is done on a continuum / 3§ TP AT & IUR W AT ST &

2. Knowledge of results is not possible / gROMEAr &1 A1 FHT ol &l
3. It is used for promotion / $THT IUANT Had YR & forT fbar Srar B
4. It is having a judgmental attitude / T8 T 3D 34T T B



Correct Answer :-

« Knowledge of results is not possible / TRUTHAT &I AT THT A%l ¢

47) How many Tirthankaras are in Jainism? / SteT 43 & fFaa idsy a2
1.24

2.4

3.34

4.14

Correct Answer :-

. 24

48) Who were Manu, Narada and Brihaspati? / Hﬂ',ﬂﬂﬂ' iR W FiT A2
1. Mathematicians of ancient India. / Ui AR & IOIA<|

2. Jain scholars. / i fagr=|

3. Gods of Vedic religion. / dfge g3 & gl

4. Law givers of ancient India / UTd $IRd & MTHBR |

Correct Answer :-

« Law givers of ancient India / U HARA & ATHHI|

49) Deliberate reduction in the exchange value of a country’s monetary unit is termed as

. | U 3= P Hifge 318 & faf g geu o SFgger @ it et @) HeT STal
gl

1. Depreciation / HedarH

2. Revaluation / Wﬁh—vr

3. Re-evaluation / Ge:- Z‘IFZITEIFI'
4. Devaluation / 3Tdd{edel

Correct Answer :-

 Devaluation / ddeded



50) National Rural Health Mission in India was launched on . | YA # 1919 ardtor
Wy iR 3t | 3= foar T Tl

1. April 2010 / 39T, 2010
2. April 2008 / 39, 2008
3. April 2006 / 30d, 2006

4, April 2005 / 370, 2005

Correct Answer :-

« April 2005 / 3f%d, 2005

51) Which economic system shows both the characteristic features of capitalist and socialist

system? / St 3nfde yomelt geftardt ok rToard! yumed o1 g1 fafmy fagivars o gxifdt 32
1. Planned economic system / f[aaifaia 3TTYF goTel

2. Command economic system / TG 3 gomelt

3. Market economic system / dTsIIX 3 gorrelt

4. Mixed economic system / TS 3 gomel

Correct Answer :-

« Mixed economic system / ff3d 3 gomel

52) Which legendary Sufi saint of Chishti order was popularly known as ‘Chirag-e-Dehlavi

(Chirag of Delhi)’? / freclt sgavar & fFw gy g ¥a & “Rmr-vagad (el #
RRwen)” & a1 | ST Sar 9

1. Abu Ahmad Chisti / 3¢ 37&d A

2. Shaikh Nasiruddin Mahmud / & FHTEA ASHG
3. Qutbuddin Bakhtiyar Kaki / Wﬁ ITEAIR hIehT
4. Nizamuddin Auliya / s 3itferam

Correct Answer :-

« Shaikh Nasiruddin Mahmud / @ FHTET FASHAG



53) Which ruler shifted the Ashokan Pillars from Topra and Meerut to New Delhi? / f&ra
AF 7 AR IR ATS T 3w ToT F ¢ Ree & wu=malka fFamr

1. Balban / delded
2. Muhammad Bin Tuglaq / HgFAC GG JdTelch

3. Giyasuddin Tughlaq / TITHEA JITeleh
4. Firoz Shah Tughlaq / TRIST Q& JaTelsh

Correct Answer :-

« Firoz Shah Tughlaq / TRIST Qe JaTelh

54) Kavi Vatsal was a title assumed by which Satavahana king? / “&fd acua” e ofives fra
ATdarg ST GaRT FHfedd ar?

1. Yajna sri satkarni / I=T #T Tcholl

2. Vasisthaputra Pulumavi / EI'@'BH?T gqa:ﬁﬁ
3. Hala / glell

4. Gautamiputra Satkani / Jﬁ?ﬂﬂgﬂ i

Correct Answer :-

o Hala / @Il

55) International Network of Bamboo & Rattan (INBAR) is located at? / a1 3 & T
HRTET dAead GMETANNTIRN) Fgl W Iq 872

1. Colombo / rera
2. Guwabhati / J[@TETET
3. Beijing / fifSior

4. Dhaka / GT<hT

Correct Answer :-
« Beijing / ST

56) Which of the following strait separates USA & Russia? / @&faf@a & ¥ =i ot
Srerafer 3rAReT 3R T F e FE B2



1. Bering Strait / S9T e
2. Semiostrovskiy Reid / HHT3TECIcERT I3

3. Fram Strait / TH STelETa

4. M’Clure Strait / TH Fegy STerd

Correct Answer :-

« Bering Strait / SR9T ST

57) ‘Silent Spring’ is an important book published in 1962. It documented the adverse effect on
the environment by the indiscriminate use of the pesticides. Who is the author of this book? /

‘rgele fBer, 1962 & YHIRAIT T Ageaqol T&ds ¢ $HA HISATAHT F U YA
¥ JITEROT W 95a a1l Yiawel 90T & IR & fA@r 31 590 FaF & A@F i g2

1. Annie Dillard / Tt f3aTs

2. Virginia Arthur / asfifaar 3mR
3. Kathryn Miles / $h2R1d AS e

4. Rachel Carson / 19T &A=

Correct Answer :-

« Rachel Carson / Tl 1A

58) Which among the following states is built the Bharat Bangladesh Moitree Udyan? /
fmafaf@a & @ Py o7 & aRa aEeRy JAH 35 T B2

1. West Bengal / OTRIT &9TTel

2. Tripura / i?g{l
3. Meghalaya / H€Tel

4. Nagaland / Td9TI CE)

Correct Answer :-

59) Anemometer is used to measure which of the following. / FFafaf@d & & FF a7 &
foT TR @1 3ughr BFar srar g



1. Wind Velocity / Gdel a7

2. Wind Direction / GdeT &1 fgam
3. Humidity / 31&aT

4. Air Pressure / d1g €Td

Correct Answer :-

« Wind Velocity / Gae daT

60) Falkland Island is a disputed territory between? / Bishols i fFas @ v fRafea
&7 72

1. West Indies and Spain / d¥cssIal 3R ¥

2. Uruguay and France / 3%9d IR B
3. Chile and Ecuador / TIell 3R SeFamE@R
4. Argentina and UK / 3/5{&ar 3R 2@?

Correct Answer :-

« Argentina and UK / 3Si&laT 3R g



